ME L&

bon phan s6, s& thap phan, tht ty cac phép toan

Tén:

3,14+2,2x2-3,7=

3,4+4,4—2%x4,6=

%+16X4,9+4—5X4’8=

1
58— =—5%x2,2=
s 7 5

2 1 1
o 15x = +3-2x% =
5 2 2

Ngay thang: Diém:

1 1
S H6x = v34+2x2,7=
3 2 ’

|
56+ -—2%x2,8=
s 2 ’

3,3-4x4+20x52+4=

1o
S+ x5-10x3,4+5=
54 ’

1 1
= -3,5%x2-15% = +3=
2 7 3
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= & = , .
g 5 Z=: bén phan sb, s thap phan, thit tw céc phép toan
@Y miin! olm

Tén: Ngay thang: Diém:
31+22><2—37—19—34 1+6><1;3+2><27—101—611
’ ’ ’ 5 5 3 2 ’ 15 15
7 2 1 1
3,4+4,4-2%x4,6=(—=)=(-1= 56+ -—2x28=—
A+44-2x4,6= ()= (13) 6+ 5-2x28=
3 29 9 133 3
Z416%x4,9+4-5x48=(——2)=(-2—) 3,3-4x4+20x52+4=—"=13_
2 ’ ’ (10) ( 10) ’ ’ 10 10
1 57 7 1 1 107 7
58— =—-5x22=(——)=(-5— —+-x5-10x3,4-5=(——)=(-5—
’ 2 ’ (10) ( 10) 5 4 ’ ( 20) ( 20)

2 1 31 1 1 1 49 1
15 x - +3-2% == (-2)=(-3— Z - 2-15%x = +3=(-—)= (-8
s x5 +3-2x 190 = 37 3,5x >x3+3 )= 8

1
2 2
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